Gl ULAT DI TR : 26 T JBI DI FE=AT 11
Total No. of Questions: 26 Total No. of Pages: 11

ERR Advsy] Ui, e — 2017

316
fawa : e

Subject: GEOGRAPHY

FHI 1 03 T quifes : 100
Time: 03 Hours Maximum Marks: 100
faader—

(i) G g7 7T &/

(i) 797 PHIH 1 & 5 T JegI70 F97 &/ FAB F97 5 3 BT &/

(iii) 797 FHE 6 T 26 TH 4 <RE fAFey &7 79 &/

(iv) %9 & GV [FEiRa sz iar & forfdo—
2 3% qIel geI & STV 30 K A 3 3iF qiet g & GV 75 TG H 4
3 Tt F9I @ TV 120 IR 7 VG 5 3H qiet e P GV ATHT 140
o=t 7 e/

(v) OTET 3a¥gE 8 TFENFGT AT 75T/

Note-

(i)  All questions are compulsory.

(ii)  Question No 1 to 5 are objective type, each Question carry 5 marks.

(iii)  Internal options are given in Q. No 6 to 26.

(iv)  Write your answer in specified word limit, Answer 2 marks Questions in 30 words,
Answer 3 marks Questions in 75 words, Answer 4 marks Question 120 words.
and Answer 5 marks Question in about 140 words.

(v) Draw labelled diagrams along with answers wherever necessary to make answer

more clear.
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HEl fdey g forfau—

(@) T & |waw e UE o—
i) 9=
(i) gedt

(i)  HITA

(iv) 3P

@) JIRG & a5 AT argAvSS TH BIAT W8T o—

() AT g
iy urffa faferor gwRr
(i) T ERT
(iv) Fargd gRI
({) TOR &1 Fared gdd RFreR 8-
(i) K2
(i) DTS
(i) =T <
(iv) TaR¥E

(@) WRA & Falfdd BT SUTGH &3 82—

(i) NS
(iy SeITSIar
(i) STRET
(iv) dTefeR
(3) I A BT SN 8—

) T SENT

(
(i) BT SENT
(
(

iy faSTell & U ST
iv)  HITT SENT
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Choose the correct option:-

(A) Nearest planet from Sun is-

(i)  Mercury
(i)  Earth
(iii)  Mars
(iv) Venus

(B) Atmosphere is hot even after sunset-
(i By sunset
(ii) By terrestrial radiation
(i)  Conduction
(iv)  Convention
(C) Highest monutain peak in the world is-
iy K2
(i)  Kanchen Junga
(i)  Nanda devi
(iv) Everest

(D) Highest production area of coal in India-

()  Raniganj
(i)  Baladila
(iv) Jhariya
(iliy ~ Talchir

(E) Small scale industry is-
(i)  Sugar Industry
(i)  Paper Industry
(iii)  Electric fan Industry

(iv) Cotton Industry
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Rerer <ol @ g Sy

(31) AFATSA H ATGEITTT oo gfoerd g |

(@) BT JhR dI TS BT IATENT ¢ |
() 9RT H A IMAD G T TR =

(@) < & UH U A TN WA W A Bl Ped T |
(3) SIS AGTA H 3T BT TR BT 2 |

Fill in the blanks:-

(A) The percentage of Nitrogen gas in Atmosphere is.....................

(B) Diamondis anexample of..............cccoeininnnn. Type of rock.

(C) Most Drought-Hit state in Indiais........................

(D) Movement of people from one place to another place is called .............
(

E) Main source of Income in tribal community is...................c....

A /T ddIgUi—

(@) B US Ul eI 99 B |

(§) TTERER BUTIRT el BT SRRV 2 |

(F) 9Rd &7 SR BR FHGEIAR ¢ |

(]) e ¥ I fga M fag@ deard © |
(§) “Rd ¥ Wied &I JUR WG T |

Write True / False:-

(A) Green Tree plants produces oxygen.

(B) Marble is an example of metamorphic rock.

(C) Southern most point of India is Kanya Kumari.

(D) Electricity produced by coal is known asThermal Electricity.

(E) The scope of Tourism in India is infinite.
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U4 Ud U /IR H IR SIST0— (5)
(@1) & Aved @) sia Aers forfay |

@) \Hred gl | UaT gY gadal @ M faRkay |
(d) UITaRT BT I gedh fhd Ped & |

(@) U™ A YR &I STy ol Urem 2 |

(3) ¥RA H Hated 99 B9 dTel 50 & AW fafRau |

Answer in one sentence each:-

Write thickness of Troposphere.(Average)
Write the name of earth movement produced by compressive force.

(A)
(B)
(C) Which is the Inorganic decomposer of environment
(D) Tea plant is which kind of climate’s plant.

(E)

Write the name of highest population density state in India.

g5 el Siel ggy— (5)

(@) HET I ATAES () T STINT NG i T o H & 2|

@) ERigpres yRITSTHT (i) STPRI

SREIESISE! (REGESE!

(@) e 3o (iv) ST (FRT)

(g) <freT swuTd (v) @ AfB ATAT & HROT gedl HT 919 9g ST © |

Match the following:-

(A) Carbon dioxide (i) s used by living being in Respiration

(B) Herakund project (i)  Bakaro

(C) Oxygen (i)  Chitranjan

(D) Rail engine (iv) Orissa (Mahanadi)

(E) Iron steel (v)  Excess of this results in & increasing tempture of
Earth
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IHT goic fhd Hed 87

What is Heat Budget?

312741 / OR
TAvSART A9 o FEd 87
What is global warming?
AR ATeT T gRHTT EIRTY |
Write the definition of Tide.
312741 / OR

JAqOTaT v fh dEd B°
What is salinity?
YRA B AT 9 o gsrdl qul & 9™ forfey |

Write the name of neighbouring nations that touch India land border.

312191 / OR
TRA & Fdied RBRaR &1 9 fRau |

Write the name of highest peak in India.

el suved fbd Ped 27

What is soil erosion?

312741 / OR
AT wRevr {59 FEd & |
What is soil conservation?
S Frafe it et deg 2
What is subsistence agriculture?
312741 / OR

WA By b ded 87

What is shifting agriculture?
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HaT ERETT & DIy b U IRy |

Write any three ways of soil conversation.

31dr / OR

Sl (FSeHI) @ dIg dF IMeie Agw oy |
Write any three economic importance of rocks.

AT & foT0 I8RINRI & BIs oI d98cd foIlRau |

Write any three importance of Ocean for Human beings.

31dr / OR

gurdr fhd dEd 87 I§ HA A DI Sl T

What is salinity? How it is measured.

RIS dh BT AMifbd fIa I918U |

Draw a labelled diagram of Oxygen Cycle.

31dr / OR

&y Husd o dad &°

What is Troposphere?

qsh URTET & Pl diFd o foIRau |

Write any three benefits of Road Transportation.

31dr / OR

ST YAl @ @iy oiF aRomd forRay |

Write any three consequences of population migration.

“HIFE e, YTl BT Ueb "yl 3 &7 | Gl H foRay
Human geography is an important part of geography. Explain in brief
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ged] IR HUSH BT JAIGT 8 & | 4 RY Aled ey |

Earth is a special plant of Solar system. Write with four reasons.

U6 FrfRad &1 aR9IRT IR | (4)
(o7) arg wf
(@) ot

Define the following.
(@) Air Masses

(b) Front
3e0d1 / OR

ARG 9o 6 dEd 57 A fba JeR @ gl 27
What are Monsoon winds? What are type its?

.17 T4 IR 999 H Pls IR =R forfRau | (4)
What any four differences between folds and faults?

31dr / OR

YHH A B Py IR HRUT [TREY |

Write any four causes of earthquake.

T.18 3N URd BT A forfay | (4)

Write the importance of Ozone layer.

31dr / OR

gRAUE ywa fod wed 87 39 y9a & aRum falay (@1 dF)

What is green house effect? Write any three results by its effects.
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H foRay |
Write any four sources of non-conventional energy, and explain any one in brief.

a1/ OR

gfroT AT B GRETT & Pl IR SUTT BT gui HIFU |

Write any four ways of conservation of mineral resources.

WM &7 A= & ygwee | aHfas &) Suafiar forfRay |

Write the utility of map in the management of local area.

a1/ OR

AT U4 A Jedhdrsll & 41 Aol a91g @] Fil LD o7

Why maintain balance between resources and Human need is necessary?

ol &= & e § wiea o) e o @ Sy |

Explain the role of Tourism in the development activities of any region.

a1/ OR

e &I 8 9dIgU |

Explain the importance of Tourism.

auf fas bR &1 Bt 87 9™ foaRau, fadl T yaR &1 Afed avi= S |

Which kind of Rainfall and write its name and describe any one kind with diagram?

a1/ OR

A 3R STerarg | By uia ar=R faIlay |

Write any five differences between Flods and Faults.
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qddi &7 AT Siad § Hgd folRay | (P1 ura) ()
Write any five importance of mountains in human life.

31dr / OR

Fert &1 onfdfe we folay (@ dfa)
Write economic importance of plains (any five)

uf¥erirere ud gdidgre H§ @i uie =R forfey | (5)

Write any five differences between west coastal and east coastal plain.

31dr / OR

SIRIT g T gy a9fd & 919 urg IR foRau |

Write five differences between Tidal tree and mountainous tree.

fev v favg & AR Ao | fAefoRaa swoigu— (5)

(A) B I8MrR

(B) T=E

(C) I IS

(D) feHTer udd

(E) U-THT 8%

Show the following in map of the world-
(A) Indian Ocean

(B) Mumbai

(C) New York-Port

(D) Himalaya mountain

(E) Panama Canal
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3121 / OR
(A) 3Rd AR
(B) WISl =R
(C) faoel

(D) ~ATH ¥ < STl AN

(B) A DI TSl

(A) Arabian Sea

(B) Suez Canal

(C) Delhi

(D) New York to London waterways

(E) Bay of Bengal

YRd § g4 Afaral & bis urg gfawul & 91 forgay fodl vt ufawy &1

afgd gl BT | (5)

Write the name of any five counterpart of dense-domicile in India. Explain any one counterpart

with diagram.

a1/ OR

YRA ¥ A4 [JbTH GAdid HH 8 & Bl Urd HRUT fIRey |

Write any five causes for shortening of Human development Index in India.

Page 11 of 11 (2280)



